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2 20m 1
+ 20mm
3 + 0.5% 20m 3
+ 20mm
4 + 30mm 20m 2m 3
+ 10mm
19
1 + 1%
2 + 50mm
3 + 50mm
4 2.5°
14.6
14.6.1
a)
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b)
14.6.2
a)
1)
2)
3)
4)
5)
6)
b)
20
20
+ 50mm
1 20m 3
+ 30mm
+ 20mm
2 20m 1
+ 10mm
3 + 50mm 20m 1
4 + 0.5% 20m 3
+ 20mm
+ 30mm
5 20m 2m 3
+ 10mm
+ 50mm
14.7
14.7.1 28
14.7.2 5
14.7.3
14.7.4
a)
1)
2)
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21

21
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+ 100mm

2%

+ 200mm

< 3%

14.7.5

14.8
14.8.1

90
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A.l
A.l.1 A.l
i _
J; BTFHAM 2
B
— bl
E_I
L, [/
T
Wi
Al
a)
K Z((\Ni(cosai—Asinai)—NWi—RDi)tan¢i+CiLi) N
¢ = Z(Wi(sina1+Acosa1-)+TDi) ............ .
Ny, =7wh,, L cosa h, L cosa
yw (kKN/m’)
Ty,
To, =NyisinBcos(; = F) oo A2
Ro,
Ro = NyisinBisin(e — ) oo A3
W—— i kN/m
C— i kPa
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pi— | ¢
L—— i m
ai—— i °
Bi— i °
A— g
Ki——
Wi:(l—rU)V\/icosai ............................................................. A4
fy
r, = . A5
U x ~ X2 .............................. .

2 (W((1=ry)cosa; — Asina;) — Ry )tang, +C L,

K, MR A S A6
Z:(Wi(smai +Acosa;) +Tp )
b)
HS=(KS—Kf)><Z:('I'i XCOSTL ) e (A7)
Hy = (Kg =K )/ K x D (T XCOS@) o (A.8)

Hs Hypm— kN

Ks

T—

A.1.2 A.2
it 4 e e
-
g
R‘"‘.r 1 Tn
\ ﬁ.r‘:ﬂﬁﬁl._;l
W,
L
——— =
L. I."i‘w;;;;;
|
oo EHTH

A.2
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a)
n-1 n-1
Z(((\N. ((I-ry)cosa; — Asine; ) - R, )tang, +C/ L, )HWJ' )+ R,
K, == — — e A9
D (W (sina, + Acosa ) +To )] [w)) +T,
i=1 j=i
R, =W, ((I-ry)cosa, — Asina,) - R, )tang, +C, L,
T, =(W,(sina, + Acosa,) + Ty,
n-1
Vi =ViViaVia-.-- L
j=i
W i+1 j=i
V= cos(a1- - ai+1) - Sin(ai - a'i+1)tan¢i+l
b)
P=P xy+K xT =R .o A.10
P—— i kN/m
Pi—; 1 kN/m
Ti
T, =W (sina, + Acosa, )+ N, sin B, cos(a, =) ...ccevvvveernnn A.ll
R

R =W (cosa — Asing;) - N,, —N,;sin S sin(a — f,)tang +C/L;.... A2

w=cos(a_, —a)—sin(a_ —a)tangd ..........cc..cooeeiiiiiiiinnn A.13
Ny,
Ny, = 7why, Licosay oo A.l4
h L cosa Yw
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Ty
Tp, =Ny sin B cos(@ = F) oo A.l5
Rp, = Ny SIn B sin(@ = F) oovvoiiiii A.16
R
R =MW((1-ry)cosa — Asina ) -0 L)tang +CLi...o.oooooo A17
fy
A.2
A.2.1 A.3
K _ (W(cosa—Asina)—Vsina—-U)tang + CL ALS
‘ Wsinas Acosa) 1V eosa :
A.3
\%
1
Vo= = H A.19
2
U
U=—y,LH A20
A.2.2

A4
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K - (W(cosa— Asina)—Vsina—U +Tsin f)tan¢ + CL Aol
! W(sina+ Acosa)+Vcosa-Tcos@ '

L

A4
\%
1
Vo= H2 A22
2
U
1
U=—ywLH A.23
2
6_ o
B— ° a P2, B =
a+6
T— kN
KW, -W, —-CL
T = & D A24
sin ftan g + K cos S
W, =W(sina+ Acosa)+V cosa......cccoeeerviniiiiiinnaeinnnnn. A25
W, = (W(cosa— Asina)-Vsina-U)tang........................... A26

50%

K — (W(cosa— Asina) —Vsina—U )tan¢g + CL A7
f W(Sina + ACOSa) _j’_VCOSa _ Tcosﬁ ........................ .
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B
B.1
1
P, = E?’KaH 2 B.1
2
cos (p—¢
K, = $-¢) e B.2
cos ecos(e+ )| 1+ sin(¢ + 9)sin(¢ = /)
cos(0 + g)cos(e — f)
o —— B.1
w - o
ﬁ - o
5 - o
P4 kN/m
Ka
H
y — kN/m’
B.1
o)
0 033¢
0.33 0.50¢
0.50 0.67¢
0.67 1.0¢
B.2
1/3 172
1
P, = E}/KPH 2, B.3
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Pe——

Kp—

G=Gcos ag
G, =Gsing,
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Kp = cos (g +2) — e B.4
coszgcos(g—§){l+\/Sin(¢+5)sm(¢+’8) }
cos(e—0)cos(e— f)
kN/m
K=(G,+E_ )U/NE,+G) i B.5
K=(G- X, +E, X )/(Ey-Zs) oo, B.6

E, =E;sin(a—a,-0)

E, =E.,cos(a-a,-0)

E, =E,;sin(a-0)

E_,=E,cos(a-9)

X, =b—Zcota

Z, =Z—Dbtana,
G——

XO_

AO_

A——
o ——

b——

/——

pyp—

E.——

kN/m
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C
C.1 K
Eo K
4 Hy 6 —1
10"kPa 10°kPa: m
20° 5430 6900 0.25 0.30 2.0 25
6700 7870 0.28 2.5
5430 6500 0.25
80° 1.8 2.0
6560 7000 0.25
4400 10000
80° 4660 5430 0.25 0.30 1.2 2.0
5430 6000
4400 9000
75° 80° 4460 5000 0.25 0.30 0.8 1.2
5430 6000
2000 5500 0.15 0.30
70° 75° 4400 8000 0.25 0.30 04 0.8
4600 5000 0.25 0.30
800 1200 0.29 0.38
1980 3600 0.25 0.30
70° 03 04
4400 6000 0.25 0.30
1000 2780 0.25 0.30
700 900 0.29 0.38
65° 1900 3000 0.15 0.20 02 03
4400 5000 0.25
30 500 0.29 0.38
10 300 0.30 0.37
45° 0.06 0.12
500 700 0.15 0.18
50 300 0.30 0.40
10 300 0.30 0.37
50 300 0.30 0.40
30° 45° 03 04
50 100 —
50 100 —
TBJ25—90
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C.2 m

My m

kPa/m’ kPa/m’

075 1. 1.0 1000 2000 500 1400
03 107 2000 4000 1000 2800
4000 6000 2000 4200

6000 10 000 3000 7000
10 000 20 000 5000 14 000
80 000 120 000 40 000 84 000

TBJ 25—90
A M m 0.6cm 1.0cm
C.3
/' 10°kPa /' 10°kPa/m

R o Ko K

10 15 2 10 20 6 16

15 23 25 15 20

20 3 4 30 18 24

30 4 6 40 24 32

40 6 8 60 36 48

50 75 10 80 48 64

60 9 12 120 7296

80 12 16 150 250 90 200

1983
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